
 

 

          Q2 is omitted  
 

   

(a) 4  =  2                    (b)  3            (c)  1           (d)  2  

6      3                            29               17                23 

 

4. Mr. Khan’s belt is 8/ 10 m long and his son’s belt is 6 /10 m long. Whose belt is longer and 

by how much? 

Solution: Mrs. Khan’s belt is 8     m long 

                                                 10 

 Mr. Khan’s sons belt  is  6     m long 

                                         10 

 

8   -  6    =  2 

10    10.    10 

Mr Khan’s belt is longer by 2 m 

                                                 10 
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